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good

0000000000Program Counter(PC)OO O (INST)OO OO OOODOOO (OPERAND-STACKO
0000 0S)0000000 (LOCAL-VARIABLESO DO DO LV)0O D000 (CHANGEDBITO O
000 CHANGED)UOOOOUOOOO (STAY) DOOOOUOOO PCOUOOOOOO NEXTPC1O
NEXTPC2OOOOOOOOOOOIndexOODODODODO 90OOOOOODODODODODODODODOODODOOOO

oo0Os51000000400000000000000C0000000COCDOOOOOOODOOPC
goobo0oooobOoOooobobooooboobooooooboboooobobooobobn

5.2 UOOOOODOO

CafeOBJUOUDOOOOOOOODOODOODOOODOODODLODODOOODODLODY9YDOODOOOOOO

gboogobooon

getpc 1 R
getinst i R

getstack 1 R
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| ndex| PC I NST (03] LV | CHANGED STAY [NEXTPCINEXTPCZ
0o \/ \/ 1 0
111 iconst_4 2 0
2 |2 istore_1 3 0
313 iine1-1 6 0
4 |16 iload_1 7 0
517 ifne 3 9 3
6 [9 return 0 0

g s1: 0000000

getlocalv i R
getstaybit i R
getchangedbit i R
getnextpcl i R
getnextpc2 i R

getIndexFromPc i R

OO000i0000000 IndexODODOROOOOOOODOOOODOOOOODOODOOODOODOOO
boooooboooobooboobooboboooobooDn

000000000000 0000 figure900000000000OO0 PCO OOOO CHANGEDO
0000000000000 00000000 CHANGEDOOOOOODOODOoooooooooooo
OO0 CHANGEDODOOOODOOOODOOOOoODoOooooooOooooooooooooboooo
gobooobooooooooboobooobooboooooobooobobooooooooDooobooboboooo
gooooobooooooboDbo

OCOOCHANGEDOOOOOOODOUOODOOOOCOOODOOO IndexOOODO IndexdODOOO
Index0O O OO CHANGEDOODOOOODODODODOODO IndexOOOO NEXTPC1 O NEXTPC20O0O
OCO000O0OO0O0OO0COONEXTPC1OOOOONEXTPC2O00O0O0 00OOOOODOOOODOODOOOO
OO000D00OO0O0O0OONEXTPC1O NEXTPC2OOOODODOOOOOOOOOOOODOOOOOOO
0000000000 200000000000000NEXTPC1O NEXTPC2O0O0000 0000
gbooobooooobooboobooboooon
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| ndex| PC I NST CS | LV | CHANGED STAY [NEXTPCINEXTPCZ

2 |2 istore 1 | GSI| LV1 \/ \/ 3

3|3 iine 1 -1] 082 | LV2 6

O 5.2 CHANGEDODOOOOODODO

OO0OOCOCOCOCOCOOCOOCOOCOCOCO000U0U0UUUUUUUOONEXTPCIOOODODONEXTPC200
gooO00OO0000000O000OoO000oU0o0ooOoOoOoOoOoOoOoOoOoOoOoCHANGEDOOOODOO
OOOOOO0O00O0 CHANGEDOOOOOOOOOOOOoOooooo
D0000D000000D0CafeOBJOOOO0OOOODO
OO00O0OcCafe0BIOOOOO0DOOOOODOOO ROOOOOOOOODDOOD IndexOOOODODDOO
Ogetinst ndex ROOODOOOOOO0ODOOOODODOOOOODOOOOODOOOOOODOOOOO
OO00O0O0OO0OOeval getinst Index ROSOO0O0COCOCOOOO0O0O0O0OO0OOOODDODOOOCOCOCOO
OOD0OO0OODOeval getinst Index RLVOOOOOOOOOOO00OO0O0OODOOODOOOOOOODOOOO
D000 NEXTPC1OOOOOODODODODO getnextpel Index ROOOOOOOOODODOOOOOOOO
OS10 Lv1iOOO OS20 Lv2000000000DODODO cafe®BJODOOOOOOOOOOODODODODO

bceq mark-check R = cboff 2 staybiton 2
cbon getIndexFromPc getnextpcl 2 R R
lvm getIndexFromPc getnextpcl 2 R R

stm getIndexFromPc getnextpcl 2 R R
if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R ==

and getstaybit getIndexFromPc getnextpcl 2 R R R == false

OO0 bceqODOO0O0O000000O00000O0O0O00O0O0O0O0O0O0OOOODOODOODOOOOOOO
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| ndex| PC I NST CS | LV | CHANGED STAY [NEXTPCINEXTPCZ

3|3 iine 1 -1] OS3 | LV3 \/

7 ifne 3 0S4 | Lv4 \/ 9 3
9 return 0S5 | LV5

O 5.3: CHANGED O OOOGODODODO
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OO0000D0 OS20 Lv200000000000O00 IndexODODOO OS10 LV2OO0000O0OO0OO
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OO0O0ONEXTPC1OOOO NEXTPC200OO0O STAYOOODOOOOOOSTAYODOOOODODOO
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Ub0oo0o0O0b0o0o00bO0oboO0on0g cafecBIOODOOOOODOOOOOOODOO

bceq mark-check R = cboff 5 staybiton 5
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cbon getIndexFromPc getnextpcl 5 R R

lvm getIndexFromPc getnextpcl 5 R R

stm getIndexFromPc getnextpcl 5 R R

cboff getIndexFromPc getnextpc2 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 5 R R =/= 0
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 5 R R R == false
and getstaybit getIndexFromPc getnextpc2 5 R R R == true
and true == same? getstack getIndexFromPc getnextpc2 5 R R R
eval getinst getIndexFromPc getnextpc2 5 R R R getstack 5 R
and true == same? getlocalv getIndexFromPc getnextpc2 5 R R R

eval getinst getIndexFromPc getnextpc2 5 R R R getlocalv 5 R .

O000if0000000Ogetchangedbit 5 ROODO IndexO 50 CHANGEDODOOOOODOOODO
OONEXTPC10O NEXTPC2O0OO 0O0OOOSTAYOONEXTPC2O0ODO000O IndexODO OO OOO
OO00000ONEXTPC1OOOUOOD IndexOOODOOOO0O0OOOOODOOOODOOOOS30O
Lv30 OS40 Lv4O 000 NEXTPC2OOOOUOO IndexODOODODOOODOOOODOOOODODOO
OO00O000S30 V3OO0 0O0OU0O0O0O0O0UO0OO0ONEXTPC1OODOOODO Indexd OS50 LV50O0O
0S40 Lv4O 00O NEXTPC1OOODOD IdexOODODOOOOODOOODODOOOOODOO

5.3 UUooon
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gobooboooooooobooobooooobooboooboobooboOooobobOOoooOoOooooon
gooboobooboobooboobooobooobooboobooboooooooooboooDbo
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gboooooooooobobooobooboooobooooooboooooboon
Ub0oO0obO0b000000 cafe0BJOOOOOOOODOOOOODOOO

bceq getstack i stm j R = eval "error" getstack j R
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if getIndexFromPc getnextpcl i R R == j

and false == tcheck getinst i R getstack j R .

bceq getlocalv i 1lvm j R = eval "error" getlocalv j R
if getIndexFromPc getnextpcl i R R == j

and false == tcheck getinst i R getlocalv j R .

gobboboboobboobobobobobOobOtcheckO OO0 OO0OOOOOOODOOOONO
gobobooboboboooobooooooooboboboobobobobobooboboboon
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gbo0oboooboobooobooboboobOOmark-checkODOOOOO0O0O0O0O0O0O0O0O0OO0OOO
goboobooboooobooboooobobooobo0ooboobo0obob0oOgbOn typecheckO OO
O00O0O00O0OOCHANGEDOOOODOOODOOODOOOUOOOOOODODO existrQOODODODODO
0000000000000 (D000)00000O00U00 SOUOOoOoOoDUoOooOooooooo
oboooboooooboboo

bred typecheck mark-check S .

bred exist? mark-check S .

bred typecheck mark-check mark-check S

bred exist? mark-check mark-check S

bred typecheck mark-check .... mark-check S .

bred exist? mark-check .... mark-check S .

00000 mark-check D0 00000 Otypecheck DO OO0O00D0O0O truedOexist?0D 00000
0 false 0O OOOCHANGED OOOOOOOOOODOOOOOOOOOOOOOOOOODOOOOOO
ocooooooobooooo

ooooO0O0O000O00000000000000000000 CatfeOBJOOOO0O0O0O0O0O00O0O
000000000CateOBJOOODOO0O0OO0O0DO0OO00D0O00O0D0O0OAppendix000000O
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Appendix

OO0Q0OQ0OQ0OO0O00 CcafeOBJOOOOOOOOOOOOODOOOODODOODODOOO

-- array object
--oooobooooooooooooooo

module* ARRAY (X :: TRIV) {
protecting (NAT)

[ Array ]

op null : -> Array
op _[_1 : Array Nat -> Elt.X
op _[_<-_1 : Array Nat E1t.X -> Array

var A : Array
vars I K : Nat
var J : Elt.X

eq (A[I<-JDII]=17.
ceq (A [T <= J1)K] =A[K] if I =/=K .

-- stack object
--bobooooooooooooooooooooooo

module* STACK (Y :: TRIV) {
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[ Stack ]

op null : -> Stack

op push : Elt.Y Stack -> Stack
op pop_ : Stack -> Stack

op top_ : Stack -> Elt.Y

var S : Stack
var E : Elt.Y

]
[za}

eq top (push (E, S))

eq pop (push (E, S))

—-- operand stack imports from stack object
--o0b00o0ooooboocOooboooooooboo

module* OPERAND-STACK {

protecting (STACK(STRING) + BOOL)

op eval__ : String Stack -> Stack
op tcheck__ : String Stack -> Bool
op same?__ : Stack Stack -> Bool

var S : Stack
vars S1, S2 : Stack

eq eval "" S =S .

eq eval "iconst_4" S = push("int", S)
eq eval "istore_1" S =S .
eq eval "iinc_1" S =S .

eq eval "iload_1" S = push("int", S)
eq eval "ifne" S = pop S .

eq eval "return" S = S .

—— error

eq eval "error" S = push("error", S)
eq tcheck "" S = true .

eq tcheck "iconst_4" S = true .

ceq tcheck "istore_1" S = true if top S == "int"
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eq tcheck "iinc_1" S = true .
ceq tcheck "iload_1" S = true if top S == "int"
eq tcheck "ifne" S = true .

eq tcheck "return" S = true .

-- this is fake.

ceq same? S1 S2 = true if top S1 == top S2 .

ceq same? S1 S2 = false if top S1 =/= top S2 .

-- local variables imports from array
--boobooobooooooooooooo

module* LOCAL-VARIABLES {

protecting (INT + ARRAY(STRING))

op eval __ : String Array -> Array

op tcheck __ : String Array -> Bool

op same? __ : Array Array -> Bool

var LV : Array
vars I J : Int

vars LV1 LV2 : Array

eq eval "" LV = LV .

eq eval "iconst_4" LV =LV .

eq eval "istore_1" LV = LV[1 <- "int"]
eq eval "iinc_1" LV = LV .

eq eval "iload_1" LV =LV .

eq eval "ifne" LV = LV .

eq eval "return" LV = LV .

—— error

eq eval "error" LV = LV[256 <- "error"]

eq tcheck "" LV = true .

eq tcheck "iconst_4" LV = true .

eq tcheck "istore_1" LV = true .

ceq tcheck "iinc_1" LV = true if LV[1] == "int"

ceq tcheck "iinc_1" LV = false if LV[1] =/= "int"

eq tcheck "iload_1" LV = true .
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eq tcheck "ifne" LV = true .

eq tcheck "return" LV = true .

-- this is fake.
ceq same? LV1 LV2 = true if LV1[1] == LV2[1]
ceq same? LV1 LV2 = false if LV1[1] =/= LV2[1]

-- Program Counter

--o00odoobcooooooooobooooooo

module! PC {
protecting (NAT)
[ Nat < Pc ]

-- Instruction
-—-0J0000oooooboonooo

module! INST {
protecting (STRING)
[ String < Inst ]

-- Stay bit
--00o0O00oO0oOoooOooOoooooo
modulex* STAY {

protecting(BOOL)

[ Bool < Stay ]

-- changed bit
--00000o0Oo0oo0ooboo0ooobOboobooOo0oooobo0oooboboOoooDn

module* CHANGEDBIT {
protecting(BOOL)
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[ Bool < Changed ]

-— Next PC 1

--b00o0oobcoooooooboooboOoooDooo

module! NEXTPC1 {

protecting (NAT)

[ Nat < NextPC1 ]

-— Next PC 2

- 00000o0o00o0ooO0ooooOoobo0ooDboo

module! NEXTPC2
protecting (NAT)
[ Nat < NextPC2

—-- Index of Box

-- 00O INDEX

module! INDEX {
protecting (NAT)
[ Nat < Index ]

-- Rule set
--ggoaga

module* RULE {

protecting (PC + INST

+ OPERAND-STACK + LOCAL-VARIABLES

+ CHANGEDBIT + STAY + NEXTPC1
+ NEXTPC2 + INDEX)

*[ Rule ]=*
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-- initial state for Rule (initialize)
op init : -> Rule

-- mark-check method for Rule (method)
-- getchangedbit U true 00000000
--0o0Oo00oooooobooo

bop mark-check_ : Rule -> Rule { memo }

-- mark exist? attribute for Rule (attribute)
-- getchangedbit 0 true J 0000000000
--Qooooo

bop exist?_ : Rule -> Bool

-- type check (attribute)
--00o0oooo0oooooooo

bop typecheck_ : Rule -> Bool

-- type check attribute for Rule
--o0o0o0oooocoooooon
-—- 000000000 signature

bop getpc__ : Index Rule -> Pc

bop getinst__ : Index Rule -> Imnst

bop getstack__ : Index Rule -> Stack

bop getlocalv__ : Index Rule -> Array

bop getstaybit__ : Index Rule -> Stay

bop getchangedbit__ : Index Rule -> Changed
bop getnextpcl__ : Index Rule -> NextPC1
bop getnextpc2__ : Index Rule -> NextPC2

-- Index From Pc

-- on user CODE (attribute)

bop getIndexFromPc__ : Pc Rule -> Index
-- method

-- changedbit J on 0 00

bop cbon__ : Index Rule -> Rule

-- changedbit O off 0 O[O

bop cboff__ : Index Rule -> Rule

-- stay bit 0 on OO0

bop staybiton__ : Index Rule -> Rule
- 00000o0o000o0ooooDooo

bop stm__ : Index Rule -> Rule

--Jdddoooooooooo
bop 1lvm__ : Index Rule -> Rule
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var

vars i j

var

R :

n :

Rule
: Index

Int

-- type check
--0o0oad

bceq typecheck R =

if
or
or
or
or
or
or
or
or
or
or
or
or

or

top
top
top
top
top
top
top

(getstack
(getstack
(getstack
(getstack
(getstack
(getstack
(getstack

(getlocalv O

(getlocalv

(getlocalv

(getlocalv

(getlocalv

1
2
3
(getlocalv 4
5
6

(getlocalv

g b W N =, O

6

false

R)
R)
R)
R)
R)
R)
R)

R) [256]
R) [256]
R) [256]
R) [256]
R) [256]
R) [256]
R) [256]

bceq typecheck R = true

"error"
"error"
"error"
"error"
"error"
"error"
"error"
== "error"
== "error"
== "error"
== "error"
== "error"
== "error"

== "error"

if top (getstack O R) =/= "error"

-- rule set of

bce

if

bceq

if

top
top
top
top
top
top

(getstack 1 R) =/= "error"

(getstack 2 R) =/= "error"

(getstack 3 R) =/= "error"

(getstack 4 R) =/= "error"

(getstack 5 R) =/= "error"

(getstack 6 R) =/= "error"
R) [256] =/= "error"

(getlocalv 0O

(getlocalv

(getlocalv

(getlocalv

(getlocalv

1
2
3
(getlocalv 4
5
6

(getlocalv

q

R) [256]
R) [256]
R) [256]
R) [256]
R) [256]
R) [256]

getchangedbit i cbon j R

i==3jand j=/=0.

i==3jand j ==

=/= "error"
=/= "error"
=/= "error"
=/= "error"
=/= "error"

=/= "error"

changedbit attribute
-- changedbit 0 00

true

getchangedbit i cbon j R = false



bceq getchangedbit i cbon j R = getchangedbit i R
if i =/=j

bceq getchangedbit i cboff j R = false

if i ==

bceq getchangedbit i cboff j R = getchangedbit i R
if 1 =/=j

beq getchangedbit i staybiton j R = getchangedbit i R .
beq getchangedbit i staybitoff j R = getchangedbit i R .
beq getchangedbit i stm j R = getchangedbit i R .
beq getchangedbit i lvm j R = getchangedbit i R .

-- rule set of getstaybit attribute

-- stay bit O QOO

bceq getstaybit i staybiton j R = true

if i ==

bceq getstaybit i staybiton j R = getstaybit i R
if i =/=j

bceq getstaybit i staybitoff j R = false
if i ==
bceq getstaybit i staybitoff j R = getstaybit i R

if i =/=j

beq getstaybit i cbon j R = getstaybit i R .
R

beq getstaybit i cboff j getstaybit i R .
beq getstaybit i stm j R = getstaybit i R .

beq getstaybit i lvm j R = getstaybit i R .

-- rule set of getinst attribute

-- getinst 0O OO0

beq getinst i cbon j R = getinst i R .

beq getinst i cboff j R = getinst i R .

beq getinst i stm j R = getinst i R .

beq getinst i lvm j R = getinst i R .

beq getinst i staybiton j R = getinst i R .
beq getinst i staybitoff j R = getinst i R .

-- rule set of getstack attribute
- 00000o0oooooooon
bceq getstack i stm j R = eval getinst i R getstack j R
if getIndexFromPc getnextpcl i R R == j
and true == tcheck getinst i R getstack j R .
bceq getstack i stm j R = eval getinst i R getstack j R
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if getIndexFromPc getnextpc2 i R R == j
and true == tcheck getinst i R getstack j R .

bceq getstack i stm j R = eval "error" getstack j R
if getIndexFromPc getnextpcl i R R == j

and false == tcheck getinst i R getstack j R .

bceq getstack i stm j R = eval "error" getstack j R
if getIndexFromPc getnextpc2 i R R == j

and false == tcheck getinst i R getstack j R .

bceq getstack i stm j R = getstack i R
if getIndexFromPc getnextpcl i R R =/= j
bceq getstack i stm j R = getstack i R
if getIndexFromPc getnextpc2 i R R =/= j

beq getstack i cbon j R = getstack i R .

beq getstack i cboff j R = getstack i R .

beq getstack i staybiton j R = getstack i R .
beq getstack i staybitoff j R = getstack i R .
beq getstack i 1lvm j R = getstack i R .

-- rule set of getlocalv attribute
- 00000ooo

bceq getlocalv i lvm j R = eval getinst i R getlocalv j R
if getIndexFromPc getnextpcl i R R == j

and tcheck getinst i R getlocalv j R .
bceq getlocalv i 1lvm j R = eval getinst i R getlocalv j R
if getIndexFromPc getnextpc2 i R R == j
and tcheck getinst i R getlocalv j R .

bceq getlocalv i 1lvm j R = eval getinst i R getlocalv j R
if getIndexFromPc getnextpcl i R R =/= j

and tcheck getinst i R getlocalv j R .

bceq getlocalv i 1lvm j R = eval getinst i R getlocalv j R
if getIndexFromPc getnextpc2 i R R =/= j

and tcheck getinst i R getlocalv j R .

bceq getlocalv i lvm j R = eval "error" getlocalv j R
if getIndexFromPc getnextpcl i R R == j

and false == tcheck getinst i R getlocalv j R .

bceq getlocalv i lvm j R = eval "error" getlocalv j R
if getIndexFromPc getnextpc2 i R R == j

and false == tcheck getinst i R getlocalv j R .

37



beq getlocalv
beq getlocalv
beq getlocalv
beq getlocalv
beq getlocalv

cbon j R = getlocalv i R .

cboff j R = getlocalv i R .
staybiton j R = getlocalv i R .
staybitoff j R = getlocalv i R .
stm j R = getlocalv i R .

-- getIndexFromPc
- IndexJ00000000D0OCOODODO

beq getIndexFromPc i cbon j R = getIndexFromPc i R .

beq getIndexFromPc i cboff j R = getIndexFromPc i R .

beq getIndexFromPc i staybiton j R = getIndexFromPc i R .

beq getIndexFromPc i staybitoff j R = getIndexFromPc i R .

beq getIndexFromPc i stm j R = getIndexFromPc i R .

beq getIndexFromPc i lvm j R = getIndexFromPc i R .

-- getnextpcl

- 00000000o0o00o0oon

beq getnextpcl
beq getnextpcl
beq getnextpcl
beq getnextpcl
beq getnextpcl
beq getnextpcl

-- getnextpc2

i cbon j R = getnextpcl i R .

i cboff j R = getnextpcl i R .

i staybiton j R = getnextpcl i R .
i staybitoff j R = getnextpcl i R .
i stm j R = getnextpcl i R .

i lvm j R = getnextpcl i R .

-~ 0o0000oooooocoooon

beq getnextpc2
beq getnextpc2
beq getnextpc2
beq getnextpc2
beq getnextpc2
beq getnextpc2

-- rule set of

i cbon j R = getnextpc2 i R .

i cboff j R = getnextpc2 i R .

i staybiton j R = getnextpc2 i R .
i staybitoff j R = getnextpc2 i R .

i stm j R = getnextpc2 i R .
i lvm j R = getnextpc2 i R .

mark-check method

--b000de00OOoOOoOoOOOOO
-—- 0000000 0o0o000o0o0oo0oDDn

-- changed bit

0

bceq mark-check R = cboff 0 staybiton O R
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if getchangedbit O R == true
and getIndexFromPc getnextpcl O R R ==
and getIndexFromPc getnextpc2 O R R ==

bceq mark-check R = cboff 0 staybiton O
cboff getIndexFromPc getnextpc2 O R R R

if getchangedbit O R == true

and getIndexFromPc getnextpcl O R R ==

and getIndexFromPc getnextpc2 O R R =/= 0

and getstaybit getIndexFromPc getnextpc2 O R R R == true

and true == same? getstack getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getstack O R
and true == same? getlocalv getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff 0 staybiton O
cbon getIndexFromPc getnextpc2 O R R
lvm getIndexFromPc getnextpc2 O R R
stm getIndexFromPc getnextpc2 O R R
cbon getIndexFromPc getnextpc2 O R R R
if getchangedbit O R == true
and getIndexFromPc getnextpcl O R R ==
and getIndexFromPc getnextpc2 O R R =/= 0
and getstaybit getIndexFromPc getnextpc2 O R R R == true
and false == same? getstack getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getstack O R
and false == same? getlocalv getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff O staybiton O cbon getIndexFromPc getnextpc2 O R R
lvm getIndexFromPc getnextpc2 O R R
stm getIndexFromPc getnextpc2 O R R R
if getchangedbit O R == true
and getIndexFromPc getnextpcl O R R ==
and getIndexFromPc getnextpc2 O R R =/= 0
and getstaybit getIndexFromPc getnextpc2 O R R R == false .

bceq mark-check R = cboff 0 staybiton 0
cboff getIndexFromPc getnextpcl O R R R
if getchangedbit O R == true
and getIndexFromPc getnextpcl O R R =/= 0
and getIndexFromPc getnextpc2 O R R ==
and getstaybit getIndexFromPc getnextpcl O R R R == true
and true == same? getstack getIndexFromPc getnextpcl O R R R
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eval getinst getIndexFromPc getnextpcl O R R R getstack O R
and true == same? getlocalv getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R .

bceq mark-check R = cboff 0 staybiton O cbon getIndexFromPc getnextpcl O R R
lvm getIndexFromPc getnextpcl O R R stm getIndexFromPc getnextpcl O R R R
if getchangedbit O R == true
and getIndexFromPc getnextpcl O R R =/= 0
and getIndexFromPc getnextpc2 O R R ==
and getstaybit getIndexFromPc getnextpcl O R R R == true
and false == same? getstack getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getstack O R
and false == same? getlocalv getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R .

bceq mark-check R = cboff O staybiton O cbon getIndexFromPc getnextpcl O R R
lvm getIndexFromPc getnextpcl O R R stm getIndexFromPc getnextpcl O R R R
if getchangedbit O R == true

/=0
and getIndexFromPc getnextpc2 O R R ==

and getIndexFromPc getnextpcl O R R

and getstaybit getIndexFromPc getnextpcl O R R R == false .

bceq mark-check R = cboff 0 staybiton O cbon getIndexFromPc getnextpcl O R R
cbon getIndexFromPc getnextpc2 O R R
lvm getIndexFromPc getnextpcl O R R
stm getIndexFromPc getnextpcl O R R
lvm getIndexFromPc getnextpc2 O R R
stm getIndexFromPc getnextpc2 O R R R
if getchangedbit O R == true
and getIndexFromPc getnextpcl O R R =/= 0
and getIndexFromPc getnextpc2 O R R =/= 0
and getstaybit getIndexFromPc getnextpcl O R R R == true
and getstaybit getIndexFromPc getnextpc2 O R R R == true
and false == same? getstack getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getstack O R
and false == same? getlocalv getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R
and false == same? getstack getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getstack O R
and false == same? getlocalv getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff 0 staybiton O cbon getIndexFromPc getnextpc2 O R R
lvm getIndexFromPc getnextpc2 O R R
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stm getIndexFromPc getnextpc2 O R R

cboff getIndexFromPc getnextpcl O R R R
if getchangedbit O R == true
and getIndexFromPc getnextpcl O R R =/= 0
and getIndexFromPc getnextpc2 O R R =/= 0
and getstaybit getIndexFromPc getnextpcl O R R R == true
and getstaybit getIndexFromPc getnextpc2 O R R R == true
and true == same? getstack getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getstack O R
and true == same? getlocalv getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R
and false == same? getstack getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getstack O R
and false == same? getlocalv getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff O staybiton O cbon getIndexFromPc getnextpcl O R R
lvm getIndexFromPc getnextpcl O R R

stm getIndexFromPc getnextpcl O R R

cboff getIndexFromPc getnextpc2 O R R R

if getchangedbit O R == true

and getIndexFromPc getnextpcl O R R =/= 0

and getIndexFromPc getnextpc2 O R R =/= 0

and getstaybit getIndexFromPc getnextpcl O R R R == true

and getstaybit getIndexFromPc getnextpc2 O R R R == true

and false == same? getstack getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getstack O R
and false == same? getlocalv getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R
and true == same? getstack getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getstack O R
and true == same? getlocalv getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff 0 staybiton O cboff getIndexFromPc getnextpcl O R R
cboff getIndexFromPc getnextpc2 O R R R

if getchangedbit O R == true

and getIndexFromPc getnextpcl O R R =/= 0

and getIndexFromPc getnextpc2 O R R =/= 0

and getstaybit getIndexFromPc getnextpcl O R R R == true

and getstaybit getIndexFromPc getnextpc2 O R R R == true

and true == same? getstack getIndexFromPc getnextpcl O R R R

eval getinst getIndexFromPc getnextpcl O R R R getstack O R

and true == same? getlocalv getIndexFromPc getnextpcl O R R R
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eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R
and true == same? getstack getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getstack O R
and true == same? getlocalv getIndexFromPc getnextpc2 O R R R
eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff 0 staybiton O cbon getIndexFromPc getnextpc2 O R R
lvm getIndexFromPc getnextpc2 O R R
stm getIndexFromPc getnextpc2 O R R

cboff getIndexFromPc getnextpcl O R R R

if getchangedbit O R == true

and getIndexFromPc getnextpcl O R R =/= 0

and getIndexFromPc getnextpc2 O R R =/= 0

and getstaybit getIndexFromPc getnextpcl O R R R == true

and getstaybit getIndexFromPc getnextpc2 O R R R == false

and true == same? getstack getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getstack O R
and true == same? getlocalv getIndexFromPc getnextpcl O R R R
eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R .

bceq mark-check R = cboff 0 staybiton O cbon getIndexFromPc getnextpc2 O R R
1lvm getIndexFromPc getnextpc2 O R R stm getIndexFromPc getnextpc2 O R R
cbon getIndexFromPc getnextpcl O R R lvm getIndexFromPc getnextpcl O R R

stm getIndexFromPc getnextpcl O R R R

if getchangedbit O R == true

and getIndexFromPc getnextpcl O R R =/= 0

and getIndexFromPc getnextpc2 O R R =/= 0

and getstaybit getIndexFromPc getnextpcl O R R R == true

and getstaybit getIndexFromPc getnextpc2 O R R R == false

and false == same? getstack getIndexFromPc getnextpcl O R R R

eval getinst getIndexFromPc getnextpcl O R R R getstack O R

and false == same? getlocalv getIndexFromPc getnextpcl O R R R

eval getinst getIndexFromPc getnextpcl O R R R getlocalv O R .

bceq mark-check R = cboff 0 staybiton O cbon getIndexFromPc getnextpcl O R R
lvm getIndexFromPc getnextpcl O R R
stm getIndexFromPc getnextpcl O R R
cboff getIndexFromPc getnextpc2 O R R R
if getchangedbit 0 R == true
and getIndexFromPc getnextpcl O R R =/= 0
and getIndexFromPc getnextpc2 O R R =/= 0
and getstaybit getIndexFromPc getnextpcl O R R R == false
and getstaybit getIndexFromPc getnextpc2 O R R R == true
and true == same? getlocalv getIndexFromPc getnextpc2 O R R R
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eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff O staybiton O cbon getIndexFromPc getnextpcl O R R
lvm getIndexFromPc getnextpcl O R R stm getIndexFromPc getnextpcl O R R
cbon getIndexFromPc getnextpc2 O R R R

if getchangedbit 0 R == true

and getIndexFromPc getnextpcl O R R =/= 0

and getIndexFromPc getnextpc2 O R R =/= 0

and getstaybit getIndexFromPc getnextpcl O R R R == false

and getstaybit getIndexFromPc getnextpc2 O R R R == true

and false == same? getstack getIndexFromPc getnextpc2 O R R R

eval getinst getIndexFromPc getnextpc2 O R R R getstack O R

and false == same? getlocalv getIndexFromPc getnextpc2 O R R R

eval getinst getIndexFromPc getnextpc2 O R R R getlocalv O R .

bceq mark-check R = cboff O staybiton O cbon getIndexFromPc getnextpcl O R R
cbon getIndexFromPc getnextpc2 O R R lvm getIndexFromPc getnextpcl O R R
stm getIndexFromPc getnextpcl O R R 1lvm getIndexFromPc getnextpc2 O R R
stm getIndexFromPc getnextpc2 O R R R

if getchangedbit O R == true

and getIndexFromPc getnextpcl O R R =/= 0

and getIndexFromPc getnextpc2 O R R =/= 0

and getstaybit getIndexFromPc getnextpcl O R R R == false

and getstaybit getIndexFromPc getnextpc2 O R R R == false .

-- changed bit 1

bceq mark-check R = cboff 1 staybiton 1 R
if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R == 0
and getIndexFromPc getnextpc2 1 R R == 0

bceq mark-check R = cboff 1 staybiton 1 cboff

getIndexFromPc getnextpc2 1 R R R

if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R ==

and getIndexFromPc getnextpc2 1 R R =/=0

and getstaybit getIndexFromPc getnextpc2 1 R R R == true

and true == same? getstack getIndexFromPc getnextpc2 1 R R R
eval getinst getIndexFromPc getnextpc2 1 R R R getstack 1 R
and true == same? getlocalv getIndexFromPc getnextpc2 1 R R R
eval getinst getIndexFromPc getnextpc2 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc getnextpc2 1 R R
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lvm getIndexFromPc getnextpc2 1 R R stm getIndexFromPc getnextpc2 1 R R
cbon getIndexFromPc getnextpc2 1 R R R

if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R ==

and getIndexFromPc getnextpc2 1 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 1 R R R == true

and false == same? getstack getIndexFromPc getnextpc2 1 R R R

eval getinst getIndexFromPc getnextpc2 1 R R R getstack 1 R

and false == same? getlocalv getIndexFromPc getnextpc2 1 R R R

eval getinst getIndexFromPc getnextpc2 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc getnextpc2 1 R R
lvm getIndexFromPc getnextpc2 1 R R stm getIndexFromPc getnextpc2 1 R R R
if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R ==

and getIndexFromPc getnextpc2 1 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 1 R R R == false .

bceq mark-check R = cboff 1 staybiton 1 cboff

getIndexFromPc getnextpcl 1 R R R

if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R =/= 0

and getIndexFromPc getnextpc2 1 R R ==

and getstaybit getIndexFromPc getnextpcl 1 R R R == true

and true == same? getstack getIndexFromPc getnextpcl 1 R R R
eval getinst getIndexFromPc getnextpcl 1 R R R getstack 1 R
and true == same? getlocalv getIndexFromPc getnextpcl 1 R R R

eval getinst getIndexFromPc getnextpcl 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon
getIndexFromPc getnextpcl 1 R R lvm getIndexFromPc getnextpcl 1 R R
stm getIndexFromPc getnextpcl 1 R R R

if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R =/=0

and getIndexFromPc getnextpc2 1 R R ==

and getstaybit getIndexFromPc getnextpcl 1 R R R == true

and false == same? getstack getIndexFromPc getnextpcl 1 R R R
eval getinst getIndexFromPc getnextpcl 1 R R R getstack 1 R
and false == same? getlocalv getIndexFromPc getnextpcl 1 R R R
eval getinst getIndexFromPc getnextpcl 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc getnextpcl 1 R R

lvm getIndexFromPc getnextpcl 1 R R stm getIndexFromPc getnextpcl 1 R R R
if getchangedbit 1 R == true
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and getIndexFromPc getnextpcl 1 R R =/= 0
and getIndexFromPc getnextpc2 1 R R ==
and getstaybit getIndexFromPc getnextpcl 1 R R R == false .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc getnextpcl 1 R R
cbon getIndexFromPc getnextpc2 1 R R lvm getIndexFromPc getnextpcl 1 R R
stm getIndexFromPc getnextpcl 1 R R 1lvm getIndexFromPc getnextpc2 1 R R
stm getIndexFromPc getnextpc2 1 R R R

if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R =/=0

and getIndexFromPc getnextpc2 1 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 1 R R R == true

and getstaybit getIndexFromPc getnextpc2 1 R R R == true

and false == same? getstack getIndexFromPc getnextpcl 1 R R R

eval getinst getIndexFromPc getnextpcl 1 R R R getstack 1 R

and false == same? getlocalv getIndexFromPc getnextpcl 1 R R R

eval getinst getIndexFromPc getnextpcl 1 R R R getlocalv 1 R

and false == same? getstack getIndexFromPc

getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getstack 1 R

and false == same? getlocalv getIndexFromPc

getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc
getnextpc2 1 R R lvm getIndexFromPc getnextpc2 1 R R
stm getIndexFromPc getnextpc2 1 R R cboff getIndexFromPc
getnextpcl 1 R R R
if getchangedbit 1 R == true
and getIndexFromPc getnextpcl 1 R R =/= 0
and getIndexFromPc getnextpc2 1 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 1 R R R == true
and getstaybit getIndexFromPc getnextpc2 1 R R R == true
and true == same? getstack getIndexFromPc getnextpcl 1 R R R
eval getinst getIndexFromPc getnextpcl 1 R R R getstack 1 R
and true == same? getlocalv getIndexFromPc getnextpcl 1 R R R
eval getinst getIndexFromPc getnextpcl 1 R R R getlocalv 1 R
and false == same? getstack getIndexFromPc
getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getstack 1 R
and false == same? getlocalv getIndexFromPc
getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getlocalv 1 R .
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bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc
getnextpcl 1 R R lvm getIndexFromPc getnextpcl 1 R R
stm getIndexFromPc getnextpcl 1 R R cboff getIndexFromPc getnextpc2 1 R R R
if getchangedbit 1 R == true
and getIndexFromPc getnextpcl 1 R R =/= 0
and getIndexFromPc getnextpc2 1 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 1 R R R == true
and getstaybit getIndexFromPc getnextpc2 1 R R R == true
and false == same? getstack getIndexFromPc
getnextpcl 1 R R R eval getinst getIndexFromPc
getnextpcl 1 R R R getstack 1 R
and false == same? getlocalv getIndexFromPc
getnextpcl 1 R R R eval getinst getIndexFromPc
getnextpcl 1 R R R getlocalv 1 R
and true == same? getstack getIndexFromPc
getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getstack 1 R
and true == same? getlocalv getIndexFromPc
getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cboff
getIndexFromPc getnextpcl 1 R R cboff getIndexFromPc getnextpc2 1 R R R
if getchangedbit 1 R == true
and getIndexFromPc getnextpcl 1 R R =/= 0
and getIndexFromPc getnextpc2 1 R R =/=0
and getstaybit getIndexFromPc getnextpcl 1 R R R == true
and getstaybit getIndexFromPc getnextpc2 1 R R R == true
and true == same? getstack getIndexFromPc
getnextpcl 1 R R R eval getinst getIndexFromPc
getnextpcl 1 R R R getstack 1 R
and true == same? getlocalv getIndexFromPc
getnextpcl 1 R R R eval getinst getIndexFromPc
getnextpcl 1 R R R getlocalv 1 R
and true == same? getstack getIndexFromPc
getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getstack 1 R
and true == same? getlocalv getIndexFromPc
getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc

getnextpc2 1 R R lvm getIndexFromPc getnextpc2 1 R R
stm getIndexFromPc getnextpc2 1 R R cboff getIndexFromPc getnextpcl 1 R R R
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if getchangedbit 1 R == true
and getIndexFromPc getnextpcl 1 R R =/=0
and getIndexFromPc getnextpc2 1 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 1 R R R == true
and getstaybit getIndexFromPc getnextpc2 1 R R R == false
and true == same? getstack getIndexFromPc getnextpcl 1 R R R
eval getinst getIndexFromPc getnextpcl 1 R R R getstack 1 R
and true == same? getlocalv getIndexFromPc

getnextpcl 1 R R R eval getinst getIndexFromPc

getnextpcl 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc
getnextpc2 1 R R 1lvm getIndexFromPc getnextpc2 1 R R
stm getIndexFromPc getnextpc2 1 R R cbon getIndexFromPc
getnextpcl 1 R R 1lvm getIndexFromPc getnextpcl 1 R R
stm getIndexFromPc getnextpcl 1 R R R
if getchangedbit 1 R == true
and getIndexFromPc getnextpcl 1 R R =/=0
and getIndexFromPc getnextpc2 1 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 1 R R R == true
and getstaybit getIndexFromPc getnextpc2 1 R R R == false
and false == same? getstack getIndexFromPc
getnextpcl 1 R R R eval getinst getIndexFromPc
getnextpcl 1 R R R getstack 1 R
and false == same? getlocalv getIndexFromPc
getnextpcl 1 R R R eval getinst getIndexFromPc
getnextpcl 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc
getnextpcl 1 R R 1lvm getIndexFromPc getnextpcl 1 R R
stm getIndexFromPc getnextpcl 1 R R cboff getIndexFromPc getnextpc2 1 R R R

if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R =/= 0

and getIndexFromPc getnextpc2 1 R R =/=0

and getstaybit getIndexFromPc getnextpcl 1 R R R == false
and getstaybit getIndexFromPc getnextpc2 1 R R R == true
and true == same? getstack getIndexFromPc

getnextpc2 1 R R R eval getinst getIndexFromPc

getnextpc2 1 R R R getstack 1 R

and true == same? getlocalv getIndexFromPc

getnextpc2 1 R R R eval getinst getIndexFromPc

getnextpc2 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc
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getnextpcl 1 R R 1lvm getIndexFromPc getnextpcl 1 R R
stm getIndexFromPc getnextpcl 1 R R cbon getIndexFromPc getnextpc2 1 R R R

if getchangedbit 1 R == true

and getIndexFromPc getnextpcl 1 R R =/=0

and getIndexFromPc getnextpc2 1 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 1 R R R == false

and getstaybit getIndexFromPc getnextpc2 1 R R R == true

and false == same? getstack getIndexFromPc

getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getstack 1 R

and false == same? getlocalv getIndexFromPc

getnextpc2 1 R R R eval getinst getIndexFromPc
getnextpc2 1 R R R getlocalv 1 R .

bceq mark-check R = cboff 1 staybiton 1 cbon getIndexFromPc
getnextpcl 1 R R cbon getIndexFromPc getnextpc2 1 R R
lvm getIndexFromPc getnextpcl 1 R R stm getIndexFromPc
getnextpcl 1 R R 1lvm getIndexFromPc getnextpc2 1 R R
stm getIndexFromPc getnextpc2 1 R R R
if getchangedbit 1 R == true
and getIndexFromPc getnextpcl 1 R R =/=0
and getIndexFromPc getnextpc2 1 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 1 R R R == false
and getstaybit getIndexFromPc getnextpc2 1 R R R == false .

-- changed bit 2

bceq mark-check R = cboff 2 staybiton 2 R
if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R ==
and getIndexFromPc getnextpc2 2 R R ==

bceq mark-check R = cboff 2 staybiton 2 cboff getIndexFromPc
getnextpc2 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R ==

and getIndexFromPc getnextpc2 2 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 2 R R R == true

and true == same? getstack getIndexFromPc getnextpc2 2 R R R
eval getinst getIndexFromPc getnextpc2 2 R R R getstack 2 R
and true == same? getlocalv getIndexFromPc getnextpc2 2 R R R
eval getinst getIndexFromPc getnextpc2 2 R R R getlocalv 2 R .
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bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpc2 2 R R 1lvm getIndexFromPc getnextpc2 2 R R
stm getIndexFromPc getnextpc2 2 R R cbon getIndexFromPc getnextpc2 2 R R R
if getchangedbit 2 R == true
and getIndexFromPc getnextpcl 2 R R ==
and getIndexFromPc getnextpc2 2 R R =/= 0
and getstaybit getIndexFromPc getnextpc2 2 R R R == true
and false == same? getstack getIndexFromPc getnextpc2 2 R R R
eval getinst getIndexFromPc getnextpc2 2 R R R getstack 2 R
and false == same? getlocalv getIndexFromPc
getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpc2 2 R R lvm getIndexFromPc getnextpc2 2 R R
stm getIndexFromPc getnextpc2 2 R R R
if getchangedbit 2 R == true
and getIndexFromPc getnextpcl 2 R R ==
and getIndexFromPc getnextpc2 2 R R =/= 0
and getstaybit getIndexFromPc getnextpc2 2 R R R == false .

bceq mark-check R = cboff 2 staybiton 2 cboff getIndexFromPc
getnextpcl 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R ==

and getstaybit getIndexFromPc getnextpcl 2 R R R == true

and true == same? getstack getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getstack 2 R

and true == same? getlocalv getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpcl 2 R R
stm getIndexFromPc getnextpcl 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R ==

and getstaybit getIndexFromPc getnextpcl 2 R R R == true
and false == same? getstack getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc

getnextpcl 2 R R R getstack 2 R
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and false == same? getlocalv getIndexFromPc
getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpcl 2 R R
stm getIndexFromPc getnextpcl 2 R R R
if getchangedbit 2 R == true
and getIndexFromPc getnextpcl 2 R R =/= 0
and getIndexFromPc getnextpc2 2 R R ==
and getstaybit getIndexFromPc getnextpcl 2 R R R == false .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpcl 2 R R cbon getIndexFromPc getnextpc2 2 R R
lvm getIndexFromPc getnextpcl 2 R R stm getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpc2 2 R R
stm getIndexFromPc getnextpc2 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 2 R R R == true

and getstaybit getIndexFromPc getnextpc2 2 R R R == true

and false == same? getstack getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getstack 2 R

and false == same? getlocalv getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getlocalv 2 R

and false == same? getstack getIndexFromPc

getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getstack 2 R

and false == same? getlocalv getIndexFromPc

getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpc2 2 R R 1lvm getIndexFromPc getnextpc2 2 R R
stm getIndexFromPc getnextpc2 2 R R cboff getIndexFromPc

getnextpcl 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 2 R R R == true
and getstaybit getIndexFromPc getnextpc2 2 R R R == true
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and true == same? getstack getIndexFromPc
getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getstack 2 R

and true == same? getlocalv getIndexFromPc
getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getlocalv 2 R

and false == same? getstack getIndexFromPc
getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getstack 2 R

and false == same? getlocalv getIndexFromPc
getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpcl 2 R R
stm getIndexFromPc getnextpcl 2 R R cboff getIndexFromPc
getnextpc2 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 2 R R R == true

and getstaybit getIndexFromPc getnextpc2 2 R R R == true

and false == same? getstack getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getstack 2 R

and false == same? getlocalv getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getlocalv 2 R

and true == same? getstack getIndexFromPc

getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getstack 2 R

and true == same? getlocalv getIndexFromPc

getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cboff getIndexFromPc
getnextpcl 2 R R cboff getIndexFromPc getnextpc2 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 2 R R R == true

and getstaybit getIndexFromPc getnextpc2 2 R R R == true

and true == same? getstack getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc
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getnextpcl 2 R R R getstack 2 R
and true == same? getlocalv getIndexFromPc
getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getlocalv 2 R
and true == same? getstack getIndexFromPc
getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getstack 2 R
and true == same? getlocalv getIndexFromPc
getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpc2 2 R R 1lvm getIndexFromPc getnextpc2 2 R R
stm getIndexFromPc getnextpc2 2 R R cboff getIndexFromPc

getnextpcl 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 2 R R R == true
and getstaybit getIndexFromPc getnextpc2 2 R R R == false
and true == same? getstack getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc

getnextpcl 2 R R R getstack 2 R

and true == same? getlocalv getIndexFromPc

getnextpcl 2 R R R eval getinst getIndexFromPc

getnextpcl 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpc2 2 R R lvm getIndexFromPc getnextpc2 2 R R
stm getIndexFromPc getnextpc2 2 R R cbon getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpcl 2 R R
stm getIndexFromPc getnextpcl 2 R R R
if getchangedbit 2 R == true
and getIndexFromPc getnextpcl 2 R R =/= 0
and getIndexFromPc getnextpc2 2 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 2 R R R == true
and getstaybit getIndexFromPc getnextpc2 2 R R R == false
and false == same? getstack getIndexFromPc
getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getstack 2 R
and false == same? getlocalv getIndexFromPc
getnextpcl 2 R R R eval getinst getIndexFromPc
getnextpcl 2 R R R getlocalv 2 R .
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bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpcl 2 R R
stm getIndexFromPc getnextpc2 2 R R cboff getIndexFromPc

getnextpc2 2 R R R

if getchangedbit 2 R == true

and getIndexFromPc getnextpcl 2 R R =/= 0

and getIndexFromPc getnextpc2 2 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 2 R R R == false
and getstaybit getIndexFromPc getnextpc2 2 R R R == true
and true == same? getstack getIndexFromPc

getnextpc2 2 R R R eval getinst getIndexFromPc

getnextpc2 2 R R R getstack 2 R

and true == same? getlocalv getIndexFromPc

getnextpc2 2 R R R eval getinst getIndexFromPc

getnextpc2 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpcl 2 R R
stm getIndexFromPc getnextpcl 2 R R cbon getIndexFromPc
getnextpc2 2 R R R
if getchangedbit 2 R == true
and getIndexFromPc getnextpcl 2 R R =/= 0
and getIndexFromPc getnextpc2 2 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 2 R R R == false
and getstaybit getIndexFromPc getnextpc2 2 R R R == true
and false == same? getstack getIndexFromPc
getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getstack 2 R
and false == same? getlocalv getIndexFromPc
getnextpc2 2 R R R eval getinst getIndexFromPc
getnextpc2 2 R R R getlocalv 2 R .

bceq mark-check R = cboff 2 staybiton 2 cbon getIndexFromPc
getnextpcl 2 R R cbon getIndexFromPc getnextpc2 2 R R
lvm getIndexFromPc getnextpcl 2 R R stm getIndexFromPc
getnextpcl 2 R R 1lvm getIndexFromPc getnextpc2 2 R R
stm getIndexFromPc getnextpc2 2 R R R
if getchangedbit 2 R == true
and getIndexFromPc getnextpcl 2 R R =/= 0
and getIndexFromPc getnextpc2 2 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 2 R R R == false
and getstaybit getIndexFromPc getnextpc2 2 R R R == false .

-- changed bit 3
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bceq mark-check R = cboff 3 staybiton 3 R
if getchangedbit 3 R == true

and getIndexFromPc getnextpcl 3 R R ==
and getIndexFromPc getnextpc2 3 R R ==

bceq mark-check R = cboff 3 staybiton 3

cboff getIndexFromPc getnextpc2 3 R R R

if getchangedbit 3 R == true

and getIndexFromPc getnextpcl 3 R R ==

and getIndexFromPc getnextpc2 3 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 3 R R R == true

and true == same? getstack getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getstack 3 R

and true == same? getlocalv getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpc2 3 R R 1lvm getIndexFromPc getnextpc2 3 R R
stm getIndexFromPc getnextpc2 3 R R cbon

getIndexFromPc getnextpc2 3 R R R

if getchangedbit 3 R == true

and getIndexFromPc getnextpcl 3 R R ==

and getIndexFromPc getnextpc2 3 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 3 R R R == true
and false == same? getstack getIndexFromPc

getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getstack 3 R

and false == same? getlocalv getIndexFromPc

getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon
getIndexFromPc getnextpc2 3 R R lvm getIndexFromPc
getnextpc2 3 R R stm getIndexFromPc getnextpc2 3 R R R

if getchangedbit 3 R == true

and getIndexFromPc getnextpcl 3 R R ==

and getIndexFromPc getnextpc2 3 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 3 R R R == false .

bceq mark-check R = cboff 3 staybiton 3 cboff
getIndexFromPc getnextpcl 3 R R R
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if getchangedbit 3 R == true

and getIndexFromPc getnextpcl 3 R R =/= 0

and getIndexFromPc getnextpc2 3 R R ==

and getstaybit getIndexFromPc getnextpcl 3 R R R == true

and true == same? getstack getIndexFromPc

getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R

and true == same? getlocalv getIndexFromPc

getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpcl 3 R R 1lvm getIndexFromPc getnextpcl 3 R R
stm getIndexFromPc getnextpcl 3 R R R

if getchangedbit 3 R == true

and getIndexFromPc getnextpcl 3 R R =/= 0

and getIndexFromPc getnextpc2 3 R R ==

and getstaybit getIndexFromPc getnextpcl 3 R R R == true

and false == same? getstack getIndexFromPc

getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R

and false == same? getlocalv getIndexFromPc

getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpcl 3 R R 1lvm getIndexFromPc getnextpcl 3 R R
stm getIndexFromPc getnextpcl 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R ==
and getstaybit getIndexFromPc getnextpcl 3 R R R == false .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpcl 3 R R cbon getIndexFromPc getnextpc2 3 R R
lvm getIndexFromPc getnextpcl 3 R R stm getIndexFromPc
getnextpcl 3 R R lvm getIndexFromPc getnextpc2 3 R R
stm getIndexFromPc getnextpc2 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 3 R R R == true
and getstaybit getIndexFromPc getnextpc2 3 R R R == true

and false == same? getstack getIndexFromPc
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getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R

and false == same? getlocalv getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R

and false == same? getstack getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getstack 3 R

and false == same? getlocalv getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpc2 3 R R 1lvm getIndexFromPc getnextpc2 3 R R
stm getIndexFromPc getnextpc2 3 R R cboff getIndexFromPc
getnextpcl 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 3 R R R == true
and getstaybit getIndexFromPc getnextpc2 3 R R R == true
and true == same? getstack getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R
and true == same? getlocalv getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R
and false == same? getstack getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getstack 3 R
and false == same? getlocalv getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpcl 3 R R 1lvm getIndexFromPc getnextpcl 3 R R
stm getIndexFromPc getnextpcl 3 R R cboff getIndexFromPc
getnextpc2 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 3 R R R == true
and getstaybit getIndexFromPc getnextpc2 3 R R R == true

and false == same? getstack getIndexFromPc
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getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R

and false == same? getlocalv getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R

and true == same? getstack getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getstack 3 R

and true == same? getlocalv getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cboff getIndexFromPc
getnextpcl 3 R R cboff getIndexFromPc getnextpc2 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 3 R R R == true
and getstaybit getIndexFromPc getnextpc2 3 R R R == true
and true == same? getstack getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R
and true == same? getlocalv getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R
and true == same? getstack getIndexFromPc
getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getstack 3 R
and true == same? getlocalv getIndexFromPc
getnextpc2 3 R R R eval getinst
getIndexFromPc getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpc2 3 R R lvm getIndexFromPc getnextpc2 3 R R
stm getIndexFromPc getnextpc2 3 R R cboff
getIndexFromPc getnextpcl 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 3 R R R == true
and getstaybit getIndexFromPc getnextpc2 3 R R R == false
and true == same? getstack getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R
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and true == same? getlocalv getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpc2 3 R R 1lvm getIndexFromPc getnextpc2 3 R R
stm getIndexFromPc getnextpc2 3 R R cbon getIndexFromPc
getnextpcl 3 R R 1lvm getIndexFromPc getnextpcl 3 R R
stm getIndexFromPc getnextpcl 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 3 R R R == true
and getstaybit getIndexFromPc getnextpc2 3 R R R == false
and false == same? getstack getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getstack 3 R
and false == same? getlocalv getIndexFromPc
getnextpcl 3 R R R eval getinst getIndexFromPc
getnextpcl 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpcl 3 R R lvm getIndexFromPc getnextpcl 3 R R
stm getIndexFromPc getnextpcl 3 R R cboff getIndexFromPc

getnextpc2 3 R R R

if getchangedbit 3 R == true

and getIndexFromPc getnextpcl 3 R R =/= 0

and getIndexFromPc getnextpc2 3 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 3 R R R == false
and getstaybit getIndexFromPc getnextpc2 3 R R R == true
and true == same? getstack getIndexFromPc

getnextpc2 3 R R R eval getinst getIndexFromPc

getnextpc2 3 R R R getstack 3 R

and true == same? getlocalv getIndexFromPc

getnextpc2 3 R R R eval getinst getIndexFromPc

getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpcl 3 R R 1lvm getIndexFromPc getnextpcl 3 R R
stm getIndexFromPc getnextpcl 3 R R
cbon getIndexFromPc getnextpc2 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
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and getstaybit getIndexFromPc getnextpcl 3 R R R == false

and getstaybit getIndexFromPc getnextpc2 3 R R R == true

and false == same? getstack getIndexFromPc

getnextpc2 3 R R R eval getinst

getIndexFromPc getnextpc2 3 R R R getstack 3 R

and false == same? getlocalv getIndexFromPc

getnextpc2 3 R R R eval getinst getIndexFromPc
getnextpc2 3 R R R getlocalv 3 R .

bceq mark-check R = cboff 3 staybiton 3 cbon getIndexFromPc
getnextpcl 3 R R cbon getIndexFromPc getnextpc2 3 R R
lvm getIndexFromPc getnextpcl 3 R R
stm getIndexFromPc getnextpcl 3 R R
lvm getIndexFromPc getnextpc2 3 R R
stm getIndexFromPc getnextpc2 3 R R R
if getchangedbit 3 R == true
and getIndexFromPc getnextpcl 3 R R =/= 0
and getIndexFromPc getnextpc2 3 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 3 R R R == false
and getstaybit getIndexFromPc getnextpc2 3 R R R == false .

-- changed bit 4

bceq mark-check R = cboff 4 staybiton 4 R
if getchangedbit 4 R == true

and getIndexFromPc getnextpcl O R R ==
and getIndexFromPc getnextpc2 O R R ==

bceq mark-check R = cboff 4 staybiton 4

cboff getIndexFromPc getnextpc2 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R ==

and getIndexFromPc getnextpc2 4 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 4 R R R == true

and true == same? getstack getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R

and true == same? getlocalv getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc

getnextpc2 4 R R lvm getIndexFromPc getnextpc2 4 R R
stm getIndexFromPc getnextpc2 4 R R cbon getIndexFromPc
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getnextpc2 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R ==

and getIndexFromPc getnextpc2 4 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 4 R R R == true

and false == same? getstack getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R

and false == same? getlocalv getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpc2 4 R R 1lvm getIndexFromPc getnextpc2 4 R R
stm getIndexFromPc getnextpc2 4 R R R
if getchangedbit 4 R == true
and getIndexFromPc getnextpcl 4 R R ==
and getIndexFromPc getnextpc2 4 R R =/= 0
and getstaybit getIndexFromPc getnextpc2 4 R R R == false .

bceq mark-check R = cboff 4 staybiton 4 cboff
getIndexFromPc getnextpcl 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R =/= 0

and getIndexFromPc getnextpc2 4 R R ==

and getstaybit getIndexFromPc getnextpcl 4 R R R == true

and true == same? getstack getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getstack 4 R

and true == same? getlocalv getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpcl 4 R R 1lvm getIndexFromPc getnextpcl 4 R R
stm getIndexFromPc getnextpcl 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R =/= 0

and getIndexFromPc getnextpc2 4 R R ==

and getstaybit getIndexFromPc getnextpcl 4 R R R == true
and false == same? getstack getIndexFromPc

getnextpcl 4 R R R eval getinst getIndexFromPc

getnextpcl 4 R R R getstack 4 R

and false == same? getlocalv getIndexFromPc
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getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpcl 4 R R 1lvm getIndexFromPc getnextpcl 4 R R
stm getIndexFromPc getnextpcl 4 R R R
if getchangedbit 4 R == true
and getIndexFromPc getnextpcl 4 R R =/= 0
and getIndexFromPc getnextpc2 4 R R ==
and getstaybit getIndexFromPc getnextpcl 4 R R R == false .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpcl 4 R R cbon getIndexFromPc getnextpc2 4 R R
lvm getIndexFromPc getnextpcl 4 R R stm getIndexFromPc
getnextpcl 4 R R 1lvm getIndexFromPc getnextpc2 4 R R
stm getIndexFromPc getnextpc2 4 R R R
if getchangedbit 4 R == true
and getIndexFromPc getnextpcl 4 R R =/= 0
and getIndexFromPc getnextpc2 4 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 4 R R R == true
and getstaybit getIndexFromPc getnextpc2 4 R R R == true
and false == same? getstack getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getstack 4 R
and false == same? getlocalv getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getlocalv 4 R
and false == same? getstack getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R
and false == same? getlocalv getIndexFromPc
getnextpc2 4 R R R eval getinst
getIndexFromPc getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpc2 4 R R 1lvm getIndexFromPc getnextpc2 4 R R
stm getIndexFromPc getnextpc2 4 R R cboff getIndexFromPc

getnextpcl 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R =/= 0

and getIndexFromPc getnextpc2 4 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 4 R R R == true
and getstaybit getIndexFromPc getnextpc2 4 R R R == true

and true == same? getstack getIndexFromPc
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getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getstack 4 R

and true == same? getlocalv getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getlocalv 4 R

and false == same? getstack getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R

and false == same? getlocalv getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpcl 4 R R 1lvm getIndexFromPc getnextpcl 4 R R
stm getIndexFromPc getnextpcl 4 R R cboff getIndexFromPc
getnextpc2 4 R R R
if getchangedbit 4 R == true
and getIndexFromPc getnextpcl 4 R R =/= 0
and getIndexFromPc getnextpc2 4 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 4 R R R == true
and getstaybit getIndexFromPc getnextpc2 4 R R R == true
and false == same? getstack getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getstack 4 R
and false == same? getlocalv getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getlocalv 4 R
and true == same? getstack getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R
and true == same? getlocalv getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cboff getIndexFromPc
getnextpcl 4 R R cboff getIndexFromPc getnextpc2 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R =/= 0

and getIndexFromPc getnextpc2 4 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 4 R R R == true

and getstaybit getIndexFromPc getnextpc2 4 R R R == true

and true == same? getstack getIndexFromPc

getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getstack 4 R
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and true == same? getlocalv getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getlocalv 4 R

and true == same? getstack getIndexFromPc

getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R

and true == same? getlocalv getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpc2 4 R R 1lvm getIndexFromPc getnextpc2 4 R R
stm getIndexFromPc getnextpc2 4 R R cboff getIndexFromPc

getnextpcl 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R =/= 0

and getIndexFromPc getnextpc2 4 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 4 R R R == true
and getstaybit getIndexFromPc getnextpc2 4 R R R == false
and true == same? getstack getIndexFromPc

getnextpcl 4 R R R eval getinst getIndexFromPc

getnextpcl 4 R R R getstack 4 R

and true == same? getlocalv getIndexFromPc

getnextpcl 4 R R R eval getinst getIndexFromPc

getnextpcl 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpc2 4 R R 1lvm getIndexFromPc getnextpc2 4 R R
stm getIndexFromPc getnextpc2 4 R R cbon getIndexFromPc
getnextpcl 4 R R 1lvm getIndexFromPc getnextpcl 4 R R
stm getIndexFromPc getnextpcl 4 R R R
if getchangedbit 4 R == true
and getIndexFromPc getnextpcl 4 R R =/= 0
and getIndexFromPc getnextpc2 4 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 4 R R R == true
and getstaybit getIndexFromPc getnextpc2 4 R R R == false
and false == same? getstack getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getstack 4 R
and false == same? getlocalv getIndexFromPc
getnextpcl 4 R R R eval getinst getIndexFromPc
getnextpcl 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
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getnextpcl 4 R R 1lvm getIndexFromPc getnextpcl 4 R R
stm getIndexFromPc getnextpcl 4 R R cboff getIndexFromPc
getnextpc2 4 R R R

if getchangedbit 4 R == true

and getIndexFromPc getnextpcl 4 R R =/= 0

and getIndexFromPc getnextpc2 4 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 4 R R R == false

and getstaybit getIndexFromPc getnextpc2 4 R R R == true

and true == same? getstack getIndexFromPc

getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R

and true == same? getlocalv getIndexFromPc

getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpcl 4 R R 1lvm getIndexFromPc getnextpcl 4 R R
stm getIndexFromPc getnextpcl 4 R R cbon getIndexFromPc
getnextpc2 4 R R R
if getchangedbit 4 R == true
and getIndexFromPc getnextpcl 4 R R =/= 0
and getIndexFromPc getnextpc2 4 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 4 R R R == false
and getstaybit getIndexFromPc getnextpc2 4 R R R == true
and false == same? getstack getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getstack 4 R
and false == same? getlocalv getIndexFromPc
getnextpc2 4 R R R eval getinst getIndexFromPc
getnextpc2 4 R R R getlocalv 4 R .

bceq mark-check R = cboff 4 staybiton 4 cbon getIndexFromPc
getnextpcl 4 R R cbon getIndexFromPc getnextpc2 4 R R
lvm getIndexFromPc getnextpcl 4 R R stm getIndexFromPc
getnextpcl 4 R R 1lvm getIndexFromPc getnextpc2 4 R R
stm getIndexFromPc getnextpc2 4 R R R
if getchangedbit 4 R == true
and getIndexFromPc getnextpcl 4 R R =/= 0
and getIndexFromPc getnextpc2 4 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 4 R R R == false
and getstaybit getIndexFromPc getnextpc2 4 R R R == false .

-- changed bit 5
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bceq mark-check R = cboff 5 staybiton 5 R
if getchangedbit 5 R == true

and getIndexFromPc getnextpcl 5 R R ==
and getIndexFromPc getnextpc2 5 R R ==

bceq mark-check R = cboff 5 staybiton 5 cboff
getIndexFromPc getnextpc2 5 R R R

if getchangedbit 5 R == true

and getIndexFromPc getnextpcl 5 R R ==

and getIndexFromPc getnextpc2 56 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 5 R R R == true

and true == same? getstack getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 56 R R R getstack 5 R

and true == same? getlocalv getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpc2 5 R R 1lvm getIndexFromPc getnextpc2 5 R R
stm getIndexFromPc getnextpc2 5 R R cbon getIndexFromPc
getnextpc2 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 5 R R ==
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpc2 5 R R R == true
and false == same? getstack getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getstack 5 R
and false == same? getlocalv getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpc2 5 R R lvm getIndexFromPc getnextpc2 5 R R
stm getIndexFromPc getnextpc2 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 5 R R ==
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpc2 5 R R R == false .

bceq mark-check R = cboff 5 staybiton 5 cboff getIndexFromPc

getnextpcl 5 R R R
if getchangedbit 5 R == true
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and getIndexFromPc getnextpcl 56 R R =/= 0

and getIndexFromPc getnextpc2 5 R R ==

and getstaybit getIndexFromPc getnextpcl 5 R R R == true

and true == same? getstack getIndexFromPc

getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getstack 5 R

and true == same? getlocalv getIndexFromPc

getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpcl 5 R R lvm getIndexFromPc getnextpcl 5 R R
stm getIndexFromPc getnextpcl 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 56 R R =/= 0
and getIndexFromPc getnextpc2 5 R R ==
and getstaybit getIndexFromPc getnextpcl 5 R R R == true
and false == same? getstack getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getstack 5 R
and false == same? getlocalv getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpcl 5 R R 1lvm getIndexFromPc getnextpcl 5 R R
stm getIndexFromPc getnextpcl 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 56 R R =/= 0
and getIndexFromPc getnextpc2 5 R R ==
and getstaybit getIndexFromPc getnextpcl 56 R R R == false .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpcl 5 R R cbon getIndexFromPc getnextpc2 5 R R
lvm getIndexFromPc getnextpcl 5 R R stm getIndexFromPc
getnextpcl 5 R R 1lvm getIndexFromPc getnextpc2 5 R R
stm getIndexFromPc getnextpc2 5 R R R

if getchangedbit 5 R == true

and getIndexFromPc getnextpcl 5 R R =/= 0

and getIndexFromPc getnextpc2 56 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 5 R R R == true

and getstaybit getIndexFromPc getnextpc2 5 R R R == true

and false == same? getstack getIndexFromPc

getnextpcl 5 R R R eval getinst getIndexFromPc
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getnextpcl 5 R R R getstack 5 R
and false == same? getlocalv getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getlocalv 5 R
and false == same? getstack getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getstack 5 R
and false == same? getlocalv getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpc2 5 R R 1lvm getIndexFromPc getnextpc2 5 R R
stm getIndexFromPc getnextpc2 5 R R cboff getIndexFromPc

getnextpcl 5 R R R

if getchangedbit 5 R == true

and getIndexFromPc getnextpcl 5 R R =/= 0

and getIndexFromPc getnextpc2 56 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 5 R R R == true
and getstaybit getIndexFromPc getnextpc2 5 R R R == true
and true == same? getstack getIndexFromPc

getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getstack 5 R

and true == same? getlocalv getIndexFromPc

getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getlocalv 5 R

and false == same? getstack getIndexFromPc

getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getstack 5 R

and false == same? getlocalv getIndexFromPc

getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpcl 5 R R 1lvm getIndexFromPc getnextpcl 5 R R
stm getIndexFromPc getnextpcl 5 R R cboff
getIndexFromPc getnextpc2 56 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 5 R R =/= 0
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 5 R R R == true
and getstaybit getIndexFromPc getnextpc2 5 R R R == true
and false == same? getstack getIndexFromPc

getnextpcl 5 R R R eval getinst getIndexFromPc
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getnextpcl 5 R R R getstack 5 R
and false == same? getlocalv getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getlocalv 5 R
and true == same? getstack getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getstack 5 R
and true == same? getlocalv getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cboff getIndexFromPc
getnextpcl 5 R R cboff getIndexFromPc getnextpc2 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 56 R R =/= 0
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 5 R R R == true
and getstaybit getIndexFromPc getnextpc2 5 R R R == true
and true == same? getstack getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getstack 5 R
and true == same? getlocalv getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getlocalv 5 R
and true == same? getstack getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 56 R R R getstack 5 R
and true == same? getlocalv getIndexFromPc
getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpc2 5 R R 1lvm getIndexFromPc getnextpc2 5 R R
stm getIndexFromPc getnextpc2 5 R R cboff
getIndexFromPc getnextpcl 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 56 R R =/= 0
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 5 R R R == true
and getstaybit getIndexFromPc getnextpc2 5 R R R == false
and true == same? getstack getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getstack 5 R

and true == same? getlocalv getIndexFromPc
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getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5§ R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpc2 5 R R 1lvm getIndexFromPc getnextpc2 5 R R
stm getIndexFromPc getnextpc2 5 R R cbon getIndexFromPc
getnextpcl 5 R R lvm getIndexFromPc getnextpcl 5 R R
stm getIndexFromPc getnextpcl 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 56 R R =/= 0
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 5 R R R == true
and getstaybit getIndexFromPc getnextpc2 5 R R R == false
and false == same? getstack getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getstack 5 R
and false == same? getlocalv getIndexFromPc
getnextpcl 5 R R R eval getinst getIndexFromPc
getnextpcl 5 R R R getlocalv 56 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpcl 5 R R 1lvm getIndexFromPc getnextpcl 5 R R
stm getIndexFromPc getnextpcl 5 R R cboff getIndexFromPc

getnextpc2 5 R R R

if getchangedbit 5 R == true

and getIndexFromPc getnextpcl 56 R R =/= 0

and getIndexFromPc getnextpc2 5 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 5 R R R == false
and getstaybit getIndexFromPc getnextpc2 5 R R R == true
and true == same? getstack getIndexFromPc

getnextpc2 5 R R R eval getinst getIndexFromPc

getnextpc2 5 R R R getstack 5 R

and true == same? getlocalv getIndexFromPc

getnextpc2 5 R R R eval getinst getIndexFromPc

getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpcl 5 R R lvm getIndexFromPc getnextpcl 5 R R
stm getIndexFromPc getnextpcl 5 R R cbon
getIndexFromPc getnextpc2 5 R R R
if getchangedbit 5 R == true
and getIndexFromPc getnextpcl 5 R R =/= 0
and getIndexFromPc getnextpc2 5 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 5 R R R == false
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and getstaybit getIndexFromPc getnextpc2 5 R R R == true

and false == same? getstack getIndexFromPc

getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getstack 5 R

and false == same? getlocalv getIndexFromPc

getnextpc2 5 R R R eval getinst getIndexFromPc
getnextpc2 5 R R R getlocalv 5 R .

bceq mark-check R = cboff 5 staybiton 5 cbon getIndexFromPc
getnextpcl 5 R R cbon getIndexFromPc getnextpc2 5 R R
lvm getIndexFromPc getnextpcl 5 R R stm getIndexFromPc
getnextpcl 5 R R lvm getIndexFromPc getnextpc2 5 R R
stm getIndexFromPc getnextpc2 5 R R R

if getchangedbit 5 R == true

and getIndexFromPc getnextpcl 56 R R =/= 0

and getIndexFromPc getnextpc2 5 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 5 R R R == false

and getstaybit getIndexFromPc getnextpc2 5 R R R == false .

-- changed bit 6

bceq mark-check R = cboff 6 staybiton 6 R
if getchangedbit 6 R == true

and getIndexFromPc getnextpcl 6 R R ==
and getIndexFromPc getnextpc2 6 R R ==

bceq mark-check R = cboff 6 staybiton 6 cboff
getIndexFromPc getnextpc2 6 R R R

if getchangedbit 6 R == true

and getIndexFromPc getnextpcl 6 R R ==

and getIndexFromPc getnextpc2 6 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 6 R R R == true

and true == same? getstack getIndexFromPc
getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getstack 6 R

and true == same? getlocalv getIndexFromPc
getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpc2 6 R R 1lvm getIndexFromPc getnextpc2 6 R R
stm getIndexFromPc getnextpc2 6 R R cbon getIndexFromPc
getnextpc2 6 R R R
if getchangedbit 6 R == true
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and getIndexFromPc getnextpcl 6 R R ==

and getIndexFromPc getnextpc2 6 R R =/= 0

and getstaybit getIndexFromPc getnextpc2 6 R R R == true

and false == same? getstack getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getstack 6 R

and false == same? getlocalv getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpc2 6 R R 1lvm getIndexFromPc getnextpc2 6 R R
stm getIndexFromPc getnextpc2 6 R R R
if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R ==
and getIndexFromPc getnextpc2 6 R R =/= 0
and getstaybit getIndexFromPc getnextpc2 6 R R R == false .

bceq mark-check R = cboff 6 staybiton 6 cboff
getIndexFromPc getnextpcl 6 R R R

if getchangedbit 6 R == true

and getIndexFromPc getnextpcl 6 R R =/= 0

and getIndexFromPc getnextpc2 6 R R ==

and getstaybit getIndexFromPc getnextpcl 6 R R R == true

and true == same? getstack getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getstack 6 R

and true == same? getlocalv getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpcl 6 R R 1lvm getIndexFromPc getnextpcl 6 R R
stm getIndexFromPc getnextpcl 6 R R R
if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R =/= 0
and getIndexFromPc getnextpc2 6 R R ==
and getstaybit getIndexFromPc getnextpcl 6 R R R == true
and false == same? getstack getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getstack 6 R
and false == same? getlocalv getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getlocalv 6 R .
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bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpcl 6 R R 1lvm getIndexFromPc getnextpcl 6 R R
stm getIndexFromPc getnextpcl 6 R R R
if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R =/= 0
and getIndexFromPc getnextpc2 6 R R ==
and getstaybit getIndexFromPc getnextpcl 6 R R R == false .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpcl 6 R R cbon getIndexFromPc getnextpc2 6 R R
lvm getIndexFromPc getnextpcl 6 R R stm getIndexFromPc
getnextpcl 6 R R 1lvm getIndexFromPc getnextpc2 6 R R
stm getIndexFromPc getnextpc2 6 R R R

if getchangedbit 6 R == true

and getIndexFromPc getnextpcl 6 R R =/= 0

and getIndexFromPc getnextpc2 6 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 6 R R R == true

and getstaybit getIndexFromPc getnextpc2 6 R R R == true

and false == same? getstack getIndexFromPc

getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getstack 6 R

and false == same? getlocalv getIndexFromPc

getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getlocalv 6 R

and false == same? getstack getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getstack 6 R

and false == same? getlocalv getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpc2 6 R R lvm getIndexFromPc getnextpc2 6 R R
stm getIndexFromPc getnextpc2 6 R R cboff getIndexFromPc

getnextpcl 6 R R R

if getchangedbit 6 R == true

and getIndexFromPc getnextpcl 6 R R =/= 0

and getIndexFromPc getnextpc2 6 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 6 R R R == true
and getstaybit getIndexFromPc getnextpc2 6 R R R == true
and true == same? getstack getIndexFromPc

getnextpcl 6 R R R eval getinst getIndexFromPc

getnextpcl 6 R R R getstack 6 R
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and true == same? getlocalv getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getlocalv 6 R

and false == same? getstack getIndexFromPc
getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getstack 6 R

and false == same? getlocalv getIndexFromPc
getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpcl 6 R R 1lvm getIndexFromPc getnextpcl 6 R R
stm getIndexFromPc getnextpcl 6 R R cboff getIndexFromPc
getnextpc2 6 R R R

if getchangedbit 6 R == true

and getIndexFromPc getnextpcl 6 R R =/= 0

and getIndexFromPc getnextpc2 6 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 6 R R R == true

and getstaybit getIndexFromPc getnextpc2 6 R R R == true

and false == same? getstack getIndexFromPc

getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getstack 6 R

and false == same? getlocalv getIndexFromPc

getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getlocalv 6 R

and true == same? getstack getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getstack 6 R

and true == same? getlocalv getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cboff getIndexFromPc
getnextpcl 6 R R cboff getIndexFromPc getnextpc2 6 R R R
if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R =/= 0
and getIndexFromPc getnextpc2 6 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 6 R R R == true
and getstaybit getIndexFromPc getnextpc2 6 R R R == true
and true == same? getstack getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getstack 6 R
and true == same? getlocalv getIndexFromPc

getnextpcl 6 R R R eval getinst getIndexFromPc
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getnextpcl 6 R R R getlocalv 6 R
and true == same? getstack getIndexFromPc
getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getstack 6 R
and true == same? getlocalv getIndexFromPc
getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpc2 6 R R lvm getIndexFromPc getnextpc2 6 R R
stm getIndexFromPc getnextpc2 6 R R cboff getIndexFromPc getnextpcl 6 R R R
if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R =/= 0
and getIndexFromPc getnextpc2 6 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 6 R R R == true
and getstaybit getIndexFromPc getnextpc2 6 R R R == false
and true == same? getstack getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getstack 6 R
and true == same? getlocalv getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpc2 6 R R 1lvm getIndexFromPc getnextpc2 6 R R
stm getIndexFromPc getnextpc2 6 R R cbon getIndexFromPc
getnextpcl 6 R R 1lvm getIndexFromPc getnextpcl 6 R R
stm getIndexFromPc getnextpcl 6 R R R
if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R =/= 0
and getIndexFromPc getnextpc2 6 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 6 R R R == true
and getstaybit getIndexFromPc getnextpc2 6 R R R == false
and false == same? getstack getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getstack 6 R
and false == same? getlocalv getIndexFromPc
getnextpcl 6 R R R eval getinst getIndexFromPc
getnextpcl 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpcl 6 R R 1lvm getIndexFromPc getnextpcl 6 R R
stm getIndexFromPc getnextpcl 6 R R cboff
getIndexFromPc getnextpc2 6 R R R
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if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R =/= 0
and getIndexFromPc getnextpc2 6 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 6 R R R == false
and getstaybit getIndexFromPc getnextpc2 6 R R R == true
and true == same? getstack getIndexFromPc
getnextpc2 6 R R R eval getinst
getIndexFromPc getnextpc2 6 R R R getstack 6 R
and true == same? getlocalv getIndexFromPc
getnextpc2 6 R R R eval getinst
getIndexFromPc getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon
getIndexFromPc getnextpcl 6 R R lvm getIndexFromPc
getnextpcl 6 R R stm getIndexFromPc getnextpcl 6 R R
cbon getIndexFromPc getnextpc2 6 R R R

if getchangedbit 6 R == true

and getIndexFromPc getnextpcl 6 R R =/= 0

and getIndexFromPc getnextpc2 6 R R =/= 0

and getstaybit getIndexFromPc getnextpcl 6 R R R == false

and getstaybit getIndexFromPc getnextpc2 6 R R R == true

and false == same? getstack getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getstack 6 R

and false == same? getlocalv getIndexFromPc

getnextpc2 6 R R R eval getinst getIndexFromPc
getnextpc2 6 R R R getlocalv 6 R .

bceq mark-check R = cboff 6 staybiton 6 cbon getIndexFromPc
getnextpcl 6 R R cbon getIndexFromPc getnextpc2 6 R R
lvm getIndexFromPc getnextpcl 6 R R stm getIndexFromPc
getnextpcl 6 R R 1lvm getIndexFromPc getnextpc2 6 R R
stm getIndexFromPc getnextpc2 6 R R R
if getchangedbit 6 R == true
and getIndexFromPc getnextpcl 6 R R =/= 0
and getIndexFromPc getnextpc2 6 R R =/= 0
and getstaybit getIndexFromPc getnextpcl 6 R R R == false
and getstaybit getIndexFromPc getnextpc2 6 R R R == false .

-- 000 changedbit O false J OO
bceq mark-check R = R

if false == getchangedbit O R
and false == getchangedbit 1 R
and false == getchangedbit 2 R
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and false
and false
and false

and false

== getchangedbit 3 R

== getchangedbit 4 R

== getchangedbit 5 R

== getchangedbit 6 R .

-- rule sets of exist? attribute

-- all getchangedbit attribution false.
-- getchagedbit 0 U0 false OO O Oexist?0 true 000

bceq exist

if false == getchangedbit O R

7 R = true

and false == getchangedbit

and false
and false
and false
and false

and false

-- others this condition

== getchangedbit

== getchangedbit

== getchangedbit

== getchangedbit

== getchangedbit

1
2
3
4
5
6

o ® X P P D

-- getchangedbit DO OO0 true00 00 0falsed OO

bceq exist? R = false

if true == getchangedbit 0 R
or true == getchangedbit 1 R
or true == getchangedbit 2 R
or true == getchangedbit 3 R
or true == getchangedbit 4 R
or true == getchangedbit 5 R
or true == getchangedbit 6 R .
}

-- pseudo bytecode

-- 0000 bytecode

module* CODE {

protecting (RULE)

-- PC

beq getpc O init = 0 .
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beq
beq
beq
beq
beq
beq

beq
beq
beq

getpc
getpc
getpc
getpc
getpc
getpc

D O W N

init
init
init
init
init

init

getIndexFromPc 0O

getIndexFromPc 1

getIndexFromPc 2

beq getIndexFromPc

beq getIndexFromPc 6

beq getIndexFromPc 7

beq getIndexFromPc 9

beq
beq
beq
beq
beq
beq
beq

beq
beq
beq
beq
beq
beq

-- instruction
getinst O init =
getinst 1 init =
getinst 2 init =
getinst 3 init =
getinst 4 init =
getinst 5 init =
getinst 6 init =

-- stack
getstack 0 init
getstack 1 init
getstack 2 init
getstack 3 init
getstack 4 init
getstack 5 init
getstack 6 init

beq

-- local variables

beq
beq
beq
beq
beq
beq
beq

getlocal
getlocal
getlocal
getlocal
getlocal

getlocalv
getlocalv

-- stay bit

v 0
v
v
v

1
2
3
v 4
5
6

init
init
init
init
init
init

init

1
© N OO W N =

]
o

init

I
-

init =

]
N

init

3 init =

init

init =

|
(o) BN &2 BT

init

"jconst_4"
"istore_1"
"iinc_1"
"iload_1"
"ifne"

"return"

null .
null .
null .
null .
null .
null .
null .

= null .
= null .
= null .
= null .
= null .
= null .

= null .

beq getstaybit O init = true .

|
w



beq getstaybit
beq getstaybit
beq getstaybit
beq getstaybit
beq getstaybit
beq getstaybit

-- changed bit

D O W N

beq
beq
beq
beq
beq
beq
beq

getchangedbit
getchangedbit
getchangedbit
getchangedbit
getchangedbit
getchangedbit
getchangedbit

-- next pc 1

beq getnextpcl

beq getnextpcl
beq getnextpcl
beq getnextpcl
beq getnextpcl
beq getnextpcl
beq getnextpcl

-- next pc 2
beq getnextpc2
beq getnextpc2
beq getnextpc2
beq getnextpc2
beq getnextpc2
beq getnextpc2
beq getnextpc2
}

init =
init =
init =
init =
init =

init =

init
init

init

init

0

1

2

3 init
4

5 init
6

init

0 init

O © N o w N

init
init =
init =
init =
init =

init =

init =
init =
init =
init =
init =
init =

init =

- 00o0oooooo
- 00o00oooooo

open CODE .

--> typecheck

bred typecheck init

-=> exist?

false
false
false
false
false

false

= true .

= false
= false
= false
= false
= false

= false

]
-

O W O O O O ©o
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bred exist? init

--> typecheck

bred typecheck mark-check init
--> exist?

bred exist? mark-check init

--> typecheck
bred typecheck mark-check mark-check init
--> exist?

bred exist? mark-check mark-check init

--> typecheck
bred typecheck mark-check mark-check mark-check init
-=> exist?

bred exist? mark-check mark-check mark-check init

--> typecheck
bred typecheck mark-check mark-check mark-check mark-check init
--> exist?

bred exist? mark-check mark-check mark-check mark-check init

--> typecheck
bred typecheck mark-check mark-check mark-check mark-check mark-check init
--> exist?

bred exist? mark-check mark-check mark-check mark-check mark-check init

--> typecheck

bred typecheck mark-check mark-check mark-check mark-check
mark-check mark-check init

--> exist?

bred exist? mark-check mark-check mark-check mark-check mark-check

mark-check init

--> typecheck

bred typecheck mark-check mark-check mark-check mark-check
mark-check mark-check mark-check init .

--> exist?

bred exist? mark-check mark-check mark-check mark-check mark-check

mark-check mark-check init

--> typecheck
bred typecheck mark-check mark-check mark-check mark-check
mark-check mark-check mark-check mark-check init

-=> exist?
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bred exist? mark-check mark-check mark-check mark-check mark-check

mark-check mark-check mark-check init .

--> typecheck

bred typecheck mark-check mark-check mark-check mark-check
mark-check mark-check mark-check mark-check mark-check init

-=> exist?

bred exist? mark-check mark-check mark-check mark-check mark-check

mark-check mark-check mark-check mark-check init

close
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